HYPERGEOMETRIC FUNCTIONS AND ASSOCIATED FAMILIES OF MEROMORPHICALLY STARLIKE AND CONVEX FUNCTIONS

JI A KIM AND NAK EUN CHO

ABSTRACT. For hypergeometric function ${}_2F_1(r,s;t;z)$, conditions on r,s and t are investigate so that ${}_2F_1(r,s;t;z)/z$ is meromorphically star-like and convex functions in the punctured disk. Further, integral operators related to the hypergeometric function are also examined.

2010 Mathematics Subject Classification. 30C45.

KEYWORDS AND PHRASES. hypergeometric function, meromorphically starlike function, meromorphically convex function, integral operator.

1. Introduction

Let Σ denote the class of functions of the form

(1.1)
$$f(z) = \frac{1}{z} + \sum_{n=0}^{\infty} a_n z^n,$$

which are analytic in the punctured open unit disk $\mathbb{U}_0 = \{z : 0 < |z| < 1\}$. A function $f \in \Sigma$ is said to be meromorphically starlike of order α , if it satisfies

$$-\mathrm{Re}\left\{\frac{zf'(z)}{f(z)}\right\} > \alpha \quad (0 \le \alpha < 1).$$

A function $f \in \Sigma$ is said to be meromorphically convex of order α , if it satisfies

$$-\mathrm{Re}\left\{1+\frac{zf''(z)}{f'(z)}\right\}>\alpha\quad (0\leq\alpha<1).$$

We denote by $\Sigma^*(\alpha)$ and $\Sigma_k(\alpha)$ the subclasses of Σ consisting of all meromorphically starlike and convex functions of order α , respectively.

Let Σ_p denote the subclass of Σ consisting of functions of the form

(1.2)
$$f(z) = \frac{1}{z} + \sum_{n=0}^{\infty} a_n z^n \ (a_n \ge 0)$$

and let $\Sigma_p^*(\alpha) = \Sigma^*(\alpha) \cap \Sigma_p$. Also let Σ_T denote the subclass of Σ consisting of functions of the form

(1.3)
$$f(z) = \frac{1}{z} - \sum_{n=0}^{\infty} a_n z^n \ (a_n \ge 0)$$

and let $\Sigma_{k,T}(\alpha) = \Sigma_k(\alpha) \cap \Sigma_T$. For various other interesting development involving functions in the classes $\Sigma_p^*(\alpha)$ and $\Sigma_{k,T}(\alpha)$, the reader may be referred (for example) to the works of Mogra et.al [5] and Uralegaddi and Ganigi [9].

The hypergeometric function ${}_{2}F_{1}(r,s;t;z)$ is given as a power series, converging in the open unit disk $\mathbb{U} = \mathbb{U}_{0} \cup \{0\}$, in the following way:

$$_{2}F_{1}(z) \equiv _{2}F_{1}(r,s;t;z) := \sum_{n=0}^{\infty} \frac{(r)_{n}(s)_{n}}{(t)_{n}(1)_{n}} z^{n},$$

where r, s and t are complex numbers with $t \neq 0, -1, -2, \dots$, and $(\lambda)_n$ denotes the Pochhammer symbol (or the shifted factorial) defined, in terms of the Gamma function Γ , by

$$(\lambda)_n := \frac{\Gamma(\lambda + n)}{\Gamma(\lambda)}$$

$$= \begin{cases} 1 & \text{if } n = 0 \text{ and } \lambda \in \mathbb{C} \setminus \{0\} \\ \lambda(\lambda + 1) \cdots (\lambda + n - 1) & \text{if } n \in \mathbb{N} = \{1, 2, \cdots\} \text{ and } \lambda \in \mathbb{C}. \end{cases}$$

We note that ${}_2F_1(r,s;t;1)$ converges for $\mathrm{Re}(t-r-s)>0$ and is represented by

(1.4)
$${}_{2}F_{1}(r,s;t;1) = \frac{\Gamma(t)\Gamma(t-r-s)}{\Gamma(t-r)\Gamma(t-s)}.$$

By using the hypergeometric function ${}_{2}F_{1}(z)$, we now introduce two meromorphic functions as follows:

(1.5)
$$L(z) \equiv L(r,s;t;z) := \frac{1}{z} + \sum_{n=0}^{\infty} \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+1}} z^n \quad (z \in \mathbb{U}_0).$$

and

$$(1.6) I(z) \equiv I(r,s;t;z) := \frac{1}{z} + \sum_{n=0}^{\infty} \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+2}} z^n (z \in \mathbb{U}_0).$$

We note that

$$L(z) = \frac{{}_{2}F_{1}(z)}{z}$$
 and $I(z) = \frac{\int_{0}^{z} {}_{2}F_{1}(t)dt}{z^{2}}$.

There are several results for ${}_2F_1(z)$ in connection with various classes of functions (see [1, 2, 4, 6, 7]). Particularly, Silverman [8] determined necessary and sufficient conditions for $z_2F_1(z)$ to be in various subclasses of starlike and convex functions. Also, Liu and Srivastava [3] investigated some geometric properties for two novel families of meromorphically multivalent functions involving a linear operator L(r, 1; t; z).

In this paper, we will determine necessary and sufficient conditions for L(z) and I(z) to be in the classes $\Sigma_p^*(\alpha)$ and $\Sigma_{k,T}(\alpha)$ with appropriate restrictions on r, s and t.

2. MAIN RESULTS

Lemma 2.1. A sufficient condition for the function f given by (1.1) to be in $\Sigma^*(\alpha)$ is that

(2.1)
$$\sum_{n=0}^{\infty} (n+\alpha)|a_n| \le 1-\alpha, \quad (1/2 \le \alpha < 1).$$

Further, a necessary and sufficient condition for the function f given by (1.2) to be in $\Sigma_p^*(\alpha)$ is that the condition (2.1) is satisfied.

Proof. Suppose that the inequality $\sum_{n=0}^{\infty} (n+\alpha)|a_n| \leq 1-\alpha$ holds. Then it suffices to show that

$$\left|\frac{zf'(z)}{f(z)} + 1\right| < \left|\frac{zf'(z)}{f(z)} + 2\alpha - 1\right|.$$

For 0 < |z| = r < 1, (2.2) is equivalent to

$$H(f, f') = |zf'(z) + f(z)| - |zf'(z) + (2\alpha - 1)f(z)|$$

$$= \left| \sum_{n=0}^{\infty} (n+1)a_n z^n \right| - \left| 2(1-\alpha)\frac{1}{z} - \sum_{n=0}^{\infty} (n+2\alpha - 1)a_n z^n \right|,$$

or

$$rH(f, f') = \sum_{n=0}^{\infty} (n+1)|a_n|r^{n+1} - 2(1-\alpha) + \sum_{n=0}^{\infty} (n+2\alpha-1)|a_n|r^{n+1}$$
$$= \sum_{n=0}^{\infty} 2(n+\alpha)|a_n|r^{n+1} - 2(1-\alpha).$$

Since the above inequality holds for all r (0 < r < 1), letting $r \to 1^-$, we have

$$H(f, f') \le \sum_{n=0}^{\infty} 2(n+\alpha)|a_n| - 2(1-\alpha) \le 0,$$

by (2.1). This completes the proof of the first part of Lemma 2.1. In order to prove the second part of Lemma 2.1, we assume that $f \in \Sigma_p^*(\alpha)$. Then, from (2.2), we have

$$\left| \frac{zf'(z) + f(z)}{zf'(z) + (2\alpha - 1)f(z)} \right| = \left| \frac{\sum_{n=0}^{\infty} (n+1)a_n z^n}{2(\alpha - 1)\frac{1}{z} + \sum_{n=0}^{\infty} (n+2\alpha - 1)a_n z^n} \right| < 1.$$

Since Re(z) < |z| for all z.

(2.3)
$$\operatorname{Re}\left(\frac{\sum_{n=0}^{\infty}(n+1)a_nz^n}{2(1-\alpha)\frac{1}{z}-\sum_{n=0}^{\infty}(n+2\alpha-1)a_nz^n}\right) < 1.$$

Choose the values of z on the real axis so that zf'(z)/f(z) is real. Upon clearing the denominator in (2.3) and letting $z \to 1^-$ through positive values, we obtain the condition (2.1).

Lemma 2.2. A sufficient condition for the function f is given by (1.1) to be in $\Sigma_k(\alpha)$ is that

(2.4)
$$\sum_{n=0}^{\infty} n(n+\alpha)|a_n| \le 1 - \alpha \quad (0 \le \alpha < 1).$$

Further, a necessary and sufficient condition for the function f is given by (2.4) to be in $\Sigma_{k,T}(\alpha)$ is that the condition (1.3) is satisfied.

Proof. Since the proof is similar to that of Lemma 2.1, we shall omit the detailed proof. $\hfill\Box$

Theorem 2.1. If r, s > 0, then a necessary and sufficient condition for L(z), given by (1.5), to be in $\Sigma_p^*(\alpha)$ is that $t \ge rs/(1-\alpha) + r + s + 1$.

Proof. According to Lemma 2.1, we need to show that

(2.5)
$$\sum_{n=0}^{\infty} (n+\alpha) \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+1}} \le 1 - \alpha.$$

Now

$$(2.6) \sum_{n=0}^{\infty} (n+\alpha) \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+1}} = \sum_{n=0}^{\infty} \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_n} + (\alpha-1) \sum_{n=1}^{\infty} \frac{(r)_n(s)_n}{(t)_n(1)_n}.$$

Noting that $(\lambda)_{n+1} = \lambda(\lambda+1)_n$ and then applying (1.4), we may express (2.6) as

$$\frac{rs}{t} \sum_{n=0}^{\infty} \frac{(r+1)_n (s+1)_n}{(t+1)_n (1)_n} + (\alpha - 1) \left(\sum_{n=0}^{\infty} \frac{(r)_n (s)_n}{(t)_n (1)_n} - 1 \right)$$
$$= \left(\frac{rs}{t-r-s-1} + \alpha - 1 \right) \frac{\Gamma(t) \Gamma(t-r-s)}{\Gamma(t-r) \Gamma(t-s)} + 1 - \alpha.$$

Hence, (2.5) is equivalent to

$$(2.7) \qquad \left(\frac{rs}{t-r-s-1}+\alpha-1\right)\frac{\Gamma(t)\Gamma(t-r-s)}{\Gamma(t-r)\Gamma(t-s)}+1-\alpha \leq 1-\alpha.$$

Thus, (2.7) is valid if and only if $t > rs/(1-\alpha) + r + s + 1$.

Theorem 2.2. If r, s > -1, $t \ge r + s + 2$ and rs < 0. A necessary and sufficient condition for L(z), given by (1.5), to be in $\Sigma_{k,T}(\alpha)$ is that

$$(2.8) \qquad \frac{(r+1)(s+1)}{(t-r-s-2)_2} - (1-\alpha)\left(\frac{1}{t-r-s-1} - \frac{1}{rs}\right) \le 0.$$

Proof. Since

$$L(z) = \frac{1}{z} - \left| \frac{rs}{t} \right| \sum_{n=0}^{\infty} \frac{(r+1)_n (s+1)_n}{(t+1)_n (1)_{n+1}} z^n,$$

according to Lemma 2.2, we must show that

$$\sum_{n=0}^{\infty} n(n+\alpha) \frac{(r+1)_n (s+1)_n}{(t+1)_n (1)_{n+1}} \le \left| \frac{t}{rs} \right| (1-\alpha).$$

Writing $n(n + \alpha) = (n + 1)^2 - (2 - \alpha)(n + 1) + (1 - \alpha)$, we see that

$$\begin{split} &\sum_{n=0}^{\infty} n(n+\alpha) \frac{(r+1)_n(s+1)_n}{(t+1)_n(1)_{n+1}} \\ &= \frac{(r+1)(s+1)}{t+1} \sum_{n=0}^{\infty} \frac{(r+2)_n(s+2)_n}{(t+2)_n(1)_n} - (1-\alpha) \sum_{n=0}^{\infty} \frac{(r+1)_n(s+1)_n}{(t+1)_n(1)_n} \\ &\quad + \frac{(1-\alpha)t}{rs} \sum_{n=1}^{\infty} \frac{(r)_n(s)_n}{(t)_n(1)_n} \\ &= \frac{\Gamma(t+1)\Gamma(t-r-s)}{\Gamma(t-r)\Gamma(t-s)} \left(\frac{(r+1)(s+1)}{(t-r-s-1)(t-r-s-2)} \right. \\ &\quad - (1-\alpha) \left(\frac{1}{t-r-s-1} - \frac{1}{rs} \right) \right) - \frac{(1-\alpha)t}{rs}. \end{split}$$

The last expression is bounded above by $|t/(rs)|(1-\alpha)$ if and only if (2.8) holds

Theorem 2.3. If r, s > 0 and t > r + s + 2, then a necessary and sufficient condition for $G(z) = \frac{1}{z}(2 - 2F_1(z))$ to be in $\Sigma_{k,T}(\alpha)$ is that

$$(2.9) \ \frac{\Gamma(t)\Gamma(t-r-s)}{\Gamma(t-r)\Gamma(t-s)} \left(\frac{(r)_2(s)_2}{(1-\alpha)(t-r-s-2)_2} - \frac{rs}{t-r-s-1} + 1 \right) \le 2.$$

Proof. Since

$$G(z) = \frac{1}{z} - \sum_{n=0}^{\infty} \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+1}} z^n,$$

from Lemma 2.2, it suffices to show that

$$\sum_{n=0}^{\infty} n(n+\alpha) \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+1}} \le 1 - \alpha.$$

Now, we have

$$\begin{split} &\sum_{n=0}^{\infty} n(n+\alpha) \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+1}} \\ &= \sum_{n=0}^{\infty} n \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_n} - (1-\alpha) \sum_{n=0}^{\infty} \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_n} + (1-\alpha) \sum_{n=0}^{\infty} \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+1}} \\ &= \frac{r(r+1)s(s+1)}{t(t+1)} \sum_{n=0}^{\infty} \frac{(r+2)_n(s+2)_n}{(t+2)_n(1)_n} - \frac{(1-\alpha)rs}{t} \sum_{n=0}^{\infty} \frac{(r+1)_n(s+1)_n}{(t+1)_n(1)_n} \\ &+ (1-\alpha) \left(\sum_{n=0}^{\infty} \frac{(r)_n(s)_n}{(t)_n(1)_n} - 1 \right) \\ &= \frac{\Gamma(t)\Gamma(t-r-s)}{\Gamma(t-r)\Gamma(t-s)} \left(\frac{(r)_2(s)_2}{(t-r-s-2)_2} - \frac{(1-\alpha)rs}{t-r-s-1} + 1 - \alpha \right) - (1-\alpha). \end{split}$$

This last expression is bounded above by $1-\alpha$ if and only if (2.9) holds. \square

Theorem 2.4. If r, s > 1 and t > r + s, then a necessary and sufficient condition for I(z), given by (1.6), to be in $\Sigma_p^*(\alpha)$ is that

$$(2.10) \qquad \frac{\Gamma(t)\Gamma(t-r-s)}{\Gamma(t-r)\Gamma(t-s)} \left(\frac{(r-1)(s-1)}{(\alpha-2)(t-1)} + \frac{t-r-s}{t-1} \right) \ge 1$$

Proof. In view of Lemma 2.1, we need only to show that

$$\sum_{n=0}^{\infty} (n+\alpha) \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+2}} \le 1 - \alpha.$$

Now

$$\sum_{n=0}^{\infty} (n+\alpha) \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+2}}$$

$$= \sum_{n=0}^{\infty} \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+1}} + (\alpha - 2) \sum_{n=0}^{\infty} \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+2}}$$

$$= \frac{\Gamma(t)\Gamma(t-r-s)}{\Gamma(t-r)\Gamma(t-s)} \left(1 + \frac{(\alpha - 2)(t-r-s)}{(r-1)(s-1)}\right) - \frac{(\alpha - 2)(t-1)}{(r-1)(s-1)} + 1 - \alpha.$$

But this last expression is bounded above by $1-\alpha$ if and only if (2.10) holds.

Theorem 2.5. If r, s > -1 with rs < 0 $(r \neq 1 \text{ or } s \neq 1)$ and t > r + s + 1, then a necessary and sufficient condition for I(z), given by (1.6), to be in $\Sigma_{k,T}(\alpha)$ is that

$$\frac{\Gamma(t+1)\Gamma(t-r-s)}{\Gamma(t-r)\Gamma(t-s)} \left(\frac{1}{t-r-s-1} - \frac{(3-\alpha)}{rs} + \frac{2(2-\alpha)(t-r-s)}{(r-1)_2(s-1)_2} \right) \\
\leq \frac{2(2-\alpha)(t-1)_2}{(r-1)_2(s-1)_2}.$$

Proof. Since

$$I(z) = \frac{1}{z} - \left| \frac{rs}{t} \right| \sum_{n=0}^{\infty} \frac{(r+1)_n (s+1)_n}{(t+1)_n (1)_{n+2}} z^n,$$

by Lemma 2.2, it is sufficient to show that

$$\sum_{n=0}^{\infty} n(n+\alpha) \frac{(r+1)_n (s+1)_n}{(t+1)_n (1)_{n+2}} \le \left| \frac{t}{rs} \right| (1-\alpha).$$

Now

$$\begin{split} &\sum_{n=0}^{\infty} n(n+\alpha) \frac{(r+1)_n(s+1)_n}{(t+1)_n(1)_{n+2}} \\ &= \sum_{n=0}^{\infty} (n+\alpha) \frac{(r+1)_n(s+1)_n}{(t+1)_n(1)_{n+1}} - 2 \sum_{n=0}^{\infty} (n+\alpha) \frac{(r+1)_n(s+1)_n}{(t+1)_n(1)_{n+2}} \\ &= \sum_{n=0}^{\infty} \frac{(r+1)_n(s+1)_n}{(t+1)_n(1)_n} - (3-\alpha) \frac{t}{rs} \sum_{n=0}^{\infty} \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+1}} \\ &+ \frac{2(2-\alpha)(t-1)_2}{(r-1)_2(s-1)_2} \sum_{n=0}^{\infty} \frac{(r-1)_{n+2}(s-1)_{n+2}}{(t-1)_{n+2}(1)_{n+2}} \\ &= \frac{\Gamma(t+1)\Gamma(t-r-s)}{\Gamma(t-r)\Gamma(t-s)} \left(\frac{1}{t-r-s-1} - \frac{(3-\alpha)}{rs} + \frac{2(2-\alpha)(t-r-s)}{(r-1)_2(s-1)_2} \right) \\ &- \frac{2(2-\alpha)(t-1)_2}{(r-1)_2(s-1)_2} - \frac{(1-\alpha)t}{rs}. \end{split}$$

But this last expression is bounded above by $|t/(rs)|(1-\alpha)$ if and only if (2.11) holds.

Theorem 2.6. If r, s > 1 and t > r + s + 1, then a necessary and sufficient condition for $H(z) = \int_0^z (2 - 2F_1(z))dz/z^2$ to be in $\Sigma_{k,T}(\alpha)$ is that

(2.12)
$$\frac{\Gamma(t)\Gamma(t-r-s)}{\Gamma(t-r)\Gamma(t-s)} \left(\frac{rs}{t-r-s-1} + \frac{2(2-\alpha)(t-r-s)}{(r-1)(s-1)} - 3 + \alpha \right)$$

$$\leq \frac{2(2-\alpha)(t-1)}{(r-1)(s-1)} + 2(1-\alpha).$$

Proof. The function H can be written by as

$$H(z) = \frac{1}{z} - \sum_{n=0}^{\infty} \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+2}} z^{n}.$$

According to Lemma 2.2, we will show that

$$\sum_{n=0}^{\infty} n(n+\alpha) \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+2}} \le 1 - \alpha.$$

Now

$$\sum_{n=0}^{\infty} n(n+\alpha) \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+2}}$$

$$\sum_{n=0}^{\infty} (n+\alpha) \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+1}} - \sum_{n=0}^{\infty} 2(n+\alpha) \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+2}}$$

$$= \sum_{n=0}^{\infty} \frac{rs}{t} \frac{(r+1)_n(s+1)_n}{(t+1)_n(1)_n} + (3-\alpha) \sum_{n=0}^{\infty} \frac{(r)_{n+1}(s)_{n+1}}{(t)_{n+1}(1)_{n+1}}$$

$$+2(2-\alpha) \sum_{n=0}^{\infty} \frac{t-1}{(r-1)(s-1)} \frac{(r-1)_{n+2}(s-1)_{n+2}}{(t-1)_{n+2}(1)_{n+2}}$$

$$= \frac{\Gamma(t)\Gamma(t-r-s)}{\Gamma(t-r)\Gamma(t-s)} \left(\frac{st}{t-r-s-1} - \frac{2(\alpha-2)(t-r-s)}{(r-1)(s-1)} + \alpha - 3\right)$$

$$+ \frac{2(\alpha-2)(t-1)}{(r-1)(s-1)} - 1 + \alpha.$$

But this last expression is bounded above by $1 - \alpha$ if and only if (2.12) holds.

Acknowledgement

This work was supported by a Research Grant of Pukyong National University (2019).

References

- B. C. Carlson and D. B. Shaffer, Starlike and prestarlike hypergeometric functions, SIAM J. Math. Anal. 15(1984), 737-745.
- [2] O. S. Kwon and N. E. Cho, Starlike and Convex Properties for hypergeometric functions, Internat. J. Math. Math. Sci. 2008, Article ID 159029, 11 pages.
- [3] J.-L. Liu and H. M. Srivastava, A linear operator and associated families of meromorphically multivalent functions, J. Math. Anal. Appl. **259**(2001), 566-581.
- [4] E. Merkes and B. T. Scott, Starlike hypergeometric functions, Proc. Amer. Math. Soc. 12(1961), 885-888.
- [5] M. L. Mogra, T. R. Reddy and O. P. Juneja, Meromorphic univalent functions with positive coefficients, Bull. Austral. Math. Soc. 32(1985), 161-176.
- [6] S. Owa and H. M. Srivastava, Univalent and starlike generalized hypergeometric functions, Canad. J. Math. 39(1987), 1057-1077.
- [7] St. Ruscheweyh and V. Singh, On the order of starlikeness of hypergeometric functions,
 J. Math. Anal. Appl. 113(1986), 1-11.
- [8] H. Silverman, Starlike and convexity properties for hypergeometric functions, J. Math. Anal. Appl. 172(1993), 574-581.
- [9] B. A. Uralegaddi and M. D. Ganigi, Meromorphic convex functions with negative coefficients, J. Math. Res. Exposition 7(1987), 21-26.

Department of Mathematics, Pukyong National University, Busan 608-737, Republic of Korea

Email address: jiarang@hotmail.com

Corresponding Author, Department of Mathematics, Pukyong National University, Busan 608-737, Republic of Korea

Email address: necho@pknu.ac.kr